1. How long was the tenure of Yashwant Singh Parmar?
(A) 1699 days
(B) 365 days
(C) 545 days
(D) 409 days.

Ty oy TR w1 weE fee wd w5 an
(A) 1699 &=
(B) 365 f&=
(€) 545 T&A
(D) 409 &1

2.  Which one is the longest river in Himachal Pradesh?
(A) Parbati
(B) Beas
(C) Raavi
(D) Sutlej.
fenrem wiw w1 wEE wa 19 i’ﬁ-—!ﬂ '2

(A) et

8
® W
3. Who was the first justice of Himachal Pradesh?
(A) P.C.B. Menon
(B) P.D. Desai
(C) M.H. Beg

(D) K. Bahadur Singh.
fiqrea RN ® Wuu <M 39 97

(A) qtetdt a9
B) W# 2=
(C) TTH. M
@) ®. TR
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Which district is Gasota fair associated?
(A) Solan

(B) Sirmaur

(C) Hamirpur

(D) Chamba.

THIW den few frs A wafim 42
(X we

(B8) faoi

(€) oy

(D) =m

S.  In which district is Gaurj Devi ka Tibba peak located?
(A) Kullu

(B} Kangra
(C) Chamba
(D) Kinnaur.

M 3 = o o1 fow fast A R 2
(A) e

(B) wimE1

(@) =

(D) fF=ir

6. Who founded the Guler state?
(A) Karam Chand
(B) Prithvi Chand
(C) Rup Chand
(D) Hari Chand.
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TR T & waren femd w1 o
(K) 9 W% F

(B) et =% 3

(C) ®9 =%

(D) ®ftex 3

7. At which of the following places Rabindranath Tagore spent few months in Himachal Pradesh?
(A) Rampur
(B) Una
(C) Nalagarh
(D) Dalhousie.
frefafen ¥ 3 frm T W it S 3 ferm ww F 59 W fom
(A) ToX
(B) =T
(C) g
(B) =R

8.  Which of the following rulers had to leave his son as a hostage at Akbar’s court?
(A) Jagat Singh
(B) Chattar Singh
(C) Bidhi Singh
(D) Sawai Man Singh.
frafafen & | ffg v F 7 £ ) FHW F TR T WWE T oET T A
(A) ¥m fow
(B) wm foE
(c) fafu e
(@) @ aF fow
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On which stream is Dhamwari Sunda Hydel Project?

(A) Gini

(B) Uhal

(C) Pabbar

(D) Swan.

sl o ety wfateen few W
(™ Tl

(B) 3™

(C) we

(D) v AI

10. Himachal Pradesh became the state of Indian Union :
(A) 1Sth
(B) 16th
(C) 1T7th
(D) 18th.
firrem win WA WY W T o
(A) 15%
(B) 164
(©) 173
(B) 187

11. Temple dedicated to Lord Bruce Veinsual is located near which of the following 2k’
(A} Manimaheshwar Lake
(B) Mshakali Lake
(C) Lama Lake
(D) Dal Lake.

8854 /ARA /16
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@fE @ TTHIE F wnffa wfw Profafee F @ fen dm ® am Raw §2

Near which town of Mandi district is Macchial Lake?
(A) Sunder Nagar

(B) Joginder Nagar

(C) Sarkaghat

(D) Karsog.

2 faw ¥ f5m v ® W afmw dw 2
(A) § TR

(B) MR TW

(&) TEEE

(D) FTEm

What is the total geographical area of Himachal Pradesh?
(A) 55973 sq. km

(B) 55073 sq. km

(C) S6783 sg. km

(D) 55673 sq. km.

ferem ww w1 @ Wnifee e feon #2

(4) 55973 =i feeit

(B) 5073 = faesht

(C) s6783 i fasit

@7 55673 71 fasi
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(18,000)

P.T.O.
16/5



14.  Who is the author of antiquities of Chamba State?
(A) LP. Vogel
(B) G.T, Vingne
(€) JB. Lyall
(D) Forster.
TN o ¥ e % daw v 87
(A) A wvim
B NA fyrd
(€) kA =
(D) W

18, Which is the Himachal Pradesh state tree?
{A) Mango tree (Mangifora Indica)
(B) Palmyra Palm (Borassus)
(C) Deodar (Cedrus Deodara)
(D) Rhododendron.
frgres wiW w1 09 W wH-W 87
(A) s %1 9% (dFrem sTEw)

(B) wowma I (0ER)
(@ TR (Figw FAER)
(D) tEEg

16. Who is regarded as the "Mother of the Indian Revolution?

(A) Devika Rani

(B) Madam Bhikaji Cama
(C) Rani Laxmibai

(D) Begum Hazrat Mahal.

B954/RRR /16 8
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‘ot W W W R WA e b
(A) e T W

@) dEn fEE w %

@ T e

(D) T W WA W

17. Which of the following crops is regarded as a plantation crop?
(A) Coconut

(8) Cotton

(C) Sugarcane
(D) Rice.

fefefen 4 | fom vom & 9 wow @ w0 F v oam 2
(A) TiEs
@ s9E
€) 7=
(D) wmEw|

18. “The India Story”, a book launched by the Union Government recently, is refated to which feid?
(A) Renewable Energy

(B) Toycathon

(C) Olympics

(D) COVID-19.

ve § F S WeR W PuRy w1 [ Y3 fEm =i, 5w i @ waa B
(A) TS Fui

(B) ZaddR

(C) setew

(Dy wifeE-19.
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19.  What is the name of the operation

launched by the Indian Navy to protect Indian vessels in the
Gulf region?

]
(A} Operation Vanilla

(B) Operation Sankalp
(C) Operation Purple

(D) Operation Crude.

e oy A v ww w1 g @ g wen A g g feg st W o
T

(A) STy afven
AB) I wwe
(C) foym Yim
(D) HTT¥E HE

20. 'Prorogation of Assembly’ means which of the following?
(A) Discontinuing of legislative assembly without dissolving
(B) Dissolving legislative assembly
(C) Summoning legislative assembly
(D) Initiating legislative assembly,
TaurET 1 wEEEE' W ad fetatas 9 | 0 82
(&) Taurmm & @ fey fan 95 e
(B) Tawrasn s
(C) Tavraw gam

(D) favras #1 e
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1. which of the following is a tissue?
(A) Blood
(B) Lungs
(C) Kidney
(D) Ovary.
preffad ¥ ¥ ®F U% S 12

(A) TH

32, What is the most abundant form of matter in the universe?

(A) Plasma

(B) Liquid

(C) Gas

(D) Solid.

Tz 4 WY F1 wE8 W w9 & #7
(A) e

& T
er ity
(D) 31

23. What is the main objective of PM Gati Shakti National Master Plan (NMP)?
(A) Skill Development
(B) Infrastructure Development
(C) Healthcare Development
(D) Export Development.

8954 /RRR /16 1 [PTO.
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N vy wfwm o e m (wmdt) ¥ g% I = )
(&) wh frwrm
(B) ¥wmwgFm el
(C) e twve fwm
(D) Trufa T
24. ‘Indian Council for Cultural Relations (ICCR) functions under which Union Ministry?
(A) Ministry of Culture
(B) Ministry of External Affairs
(C) Ministry of Tourism
(D) Ministry of Home Affairs.
‘srfre wieptr WA thwe (SmAdan)’ e $9T Tem ® mm w5 wen 1
(&) SEphy AT
B) fadw w=m=w
(C) Wiz Hawm

(D) & WG|

25. B.C. ROY award is given in the field of
(A) Music
(B) Journalism
(C) Medicine
(D) Environment.
A, d3 grwn fEw a3 F o am 22
f <
(B) T
() #fefm

(D) wafaT|
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26. pigital Communication Commission (DCC) is an apex body, under the aegis of which Ministry?
(A) Ministry of Information and Broadcasting

(8) Ministry of Communication
(C) Ministry of Electronics and IT

(D) Ministry of Commerce and Industry,

fifees W MM (DCC) fFm wrer % werm o ww v B 2
(a7 o SR e

(B) WaR WA

(C) W £ 4 smF. waem

(D) TR S IgEm Harera

27. What is India’s rank in the global synthetic diamonds export?
(a) 1
(B) 2
© 3
(D) 4.
s fdfes #1t # frafa & W = wwm = B2
(A) 1
(B) 2
4€) 3
(D) 4.

28, The planet that moves round the Sun at the highest speed is
(A) Jupiter
(B) Venus
(C) Mars
(D) Mercury.

8954 /RRR /16 13 [PT.0.
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3.

shsm =+t faufm 22
(A) % fog

®) |

©) 4

() 9

o v w1 favEm #?
(A) HATe™

(B) srert

(C) HrerdA

(Dy sert
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3s. W@ w1 wifem #?
(A) =
(B) wferam
(C) wrefta
(D) wreh

36. W w1 wifem 4
(A) wnyeft
(B) ®|my
(©) =
(D) wmyf

3. Fefefen freed § & wwdw e w1 w9 #ifw
(A) ¥
(B) dem
(C) wEI™
@) fewerm

8. & v F W@ sqEn WY v o e € 3 owwm oam #
(A) 9%
(B) fasr =
(ef st =
(D) T=EY|

39. wem = #
(A) 2.2, %3
(B) 9, %, 9, %
(C) 99,9, ¥
(D) 9, 9, |, Ml
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45, xwen w=m o
(A) % T
B) § Iverf &
(€) | Ty ¢
(D) X0 3w &

e (Wve-wem 46-50) : i W vApdE T e W I 3

W bW A s b fer 4w Ay v w0 @ oI TR W W o
Tfe R e ® wwm soran g owm o w H ) w6 dan b T, A,
¥} yeit = swm # wew Freewt g A @ 20 T o @ A AW T TR A 6
Tuw! B et e A 6w o wren sww faw # ai s FaR #T eEfEE = A Ao
Fwe-w S’ sl fdm weE g A ff seE qEn v I 6 Wl I T w
W w Il wieh A w7 @ win woen €, ww @ @ @iet 8, 3@ T AW FW i,
| W R IEw freg, drm, ades v 6 frw g #

R froet 9t # wen v ¥ R Twm 91 9w e o 9ot 36 9 e
Sh IEe vl B, TPl ol Tl | Twwd v S wwORz [ g e 4l W 5w S
t, 38 S ¥ vam faw W IEe-fyn, E-fan W AR @t O fred € o R we o
st s §1 fawt w4t 9@ 1 e w1 g9 F, T Fvew I oW F IoEE A 9
¥ win faww, sfew awm #) § v e, S et w1 Teem SR e T e e w
W oo @ faws uw s § 39 vaw 4 foe o e S aw 48 @ 41 3aw sl ww
4 FE: TF ¥ qe% SR 398 S W S @ 99 8 99 & @9 6 96 g g9 6
# ¥= ¥ Jqfa =9 8 A &

46. FETE ® T I ¥
(A) FTHEIH
®] v
(C) s 1aqE
(D) FaTEA|

8954 /RRRA/16 18
(18,000)



g7, s B TEN BN B wRO wn v e
(A) T H 3ew e o
@) wfxa ® faum foem o
(© whr wY v e ot
() T ® v faerdt o

4, TETH, TEA, [ W K wn ww oawm 47
(A) HrE T
(B) ¥¢ W
© 3 1§
D) ¥ g8

. FH R I P AN Uve S wom W w1 ow s
(&) TH® AUF TO-90 3w T
(B) TN F A T TN
(C) FYF w& A T
(D) s S ¥FM

S 7™M % Hwws dF HvEd: uE ¥ gER AVER 9
AT TEF | B W
(B) ¥ §@ 8 A+
(C) q@ %t g8 ¥ o
(D) srqqfa w5 B I
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| : ions, four words are given, on|
Direction (Q. Nos. §1-52) : In the .fO."ﬂW“'lE questions Y One o Wi
wrongly spelt. Choose the one that is not right.

S1. (A) Poignant
(B) Relevent
(C) Prevalent
(D) Malignant.

52. (A) Vandetta
(B) Vensimilitude
(C) Vicarious

(D) Vociferate.

Directions (Q. Nos. 53-54) : Write the one-word substitution for the following questions.

53. Find the substitute a word for : "A man who wastes his money on luxury”,

(A} Notorious
(BY Versatile
(C) Omithologist
(D) Extravagant.

54. What word from the following given words would you use to represent "A doctor who specializes
in diseases of the nose".

(A) Rhinologist
(B) Extempore

;C)/ Speleology

(D) Chauffeur.

8954 /ARA /16 20
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g5, Ind pohu.::nlly entie t:ned Community, neither the Kings nor the gods have anything to say!"
The word in the bold is exactly opposite in meaning to

(A) Civilised
(B) Stupid

(C) Uncivilised
(p) Uneducated.

56, Select the correct representation of the word or the phrase.
He took the decision of his own accord.
W Willingly
(B) At his desire
(C) Unwillingly
(D) On his own.

£7. The workers are hell bent at getting what is due to them?
(A) Hell bent on getting
(B) Hell bent for getting
() Hell bent upon getting

(D) No improvement.

8. Fill in the blank with the correct word from the following :
The miser gazed .................. at the pile of gold coins in front of him.
(A) Avidly
(BY Admiringly
(C) Thoughtfully
(D) Earnestly.

8954 /RRR /18 21 [P.T.0.
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9. Sclect the pair which has-the same relationship

GRAIN : SALT

(A) shard : pottery
(B) shred : wood
(C) blades : grass

(D) chip : glass.

60. Select the pair which has the same relationship
LIGHT : BLIND
(A) speech : dumb
(B) language : deaf
(C) tongue : sound
(D) woice : vibration.

Directions (Q. Nos. 61-62) : Fill in the blank with the correct word from the following :

(B) over
(C) on

(B in.

8954 /RRR/ 16 22
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63, Find out the antonyms of underlined word-
Foremost :
(A) Hindmost
(B) Unimportant
(C) Disposed
(D) Mature,

64, He i for you all day, He's still waiting now.
Choose appropriate word from the following
(A) has been waiting
(B) has waited
(C) waited -
(D) had waited.

65. The grapes are now ..
(AT Ready
(B) Mature
(C) Ripe
(D) Advanced.

..... ... enough to be picked. (Fill in the blank)

Directions (Q. Nos. 66-70) : Read carcfully and answers the following questions on the basis of
following paragraph :

A vexed problem facing us is the clamour to open more eolleges and to reserve more seats for
backward classes. But it will be a sheer folly to expand such facilities recklessly without giving any
thought to the quality of education imparted. If admissions are made far more selective, it will
astomatically reduced the number of entrants. This should apply particularly colleges, many of which
are little more than degree factories. Only then can the authorities hope to bring down the teacher-
stadent ratio to manageable proportion. What is more, teachers should be given refresher courses,
every summer to brush up their knowledge. Besides, if college managements increase their lbrary
budget it will help both the staff and the to new students a great deal.

Al the same time, however, it will be unfair to deny college education to thousands of young men
and women, unless employers stop insisting on degrees even for clerical jobs. For a strt, why can't
the Government disqualify graduates from securing certain jobs, say class [l and IV posts? Once the
link between degrees and jobs is severed at least in some important departments, in will make young
people think twice before joining college.

8954 /RRR /16 23 [P.T.O.
(18,000)

16/9



66. What can automatically help to reduce admission?
(A) Though entrance tests
(B) Discourngement to open new colleges
(C) Selective admissions

(D) Abolishing reservation,

67. Many of the new college are
(A} Centres of advanced learning
(B) Rescarch institutions
(C) Factories producing degree holders

(D) Knowns for their academic excellence,

68. How can teachers are
(A) By amanging refresher courses
(B) By providing monetary helpfincentive
(C) By providing better library focilities
(D) By sending them abroad.

69. The author is in favour of restricting college admissions
(A) Only when degrees are delinked form jobs
(B¥ When aliernative avenues are open for the students
(C) When the teacher student ratio is reduced

(D) Only when parents think twice before sending their children.

70. The phrase "Vexed problem” means
(A) A serious f:mblcm
(B) A debatable problem
}e)’ A difficult problem

(D) An irritating problem,

8954 /RAR/16 24
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7L I read an advertisement that said

(18,

.+ it struck me
+ of course

. suitable it was-

weom o =

: how eminently
The Proper sequence should be
(A) SPQR

(B) QSRP

(C) PSRQ

(D) QPSR.

Tft

P: T R WR
Q: LLiEd ‘
R: 390F I8 oW
§: feon s

® fea SEE B =ifey
(A) SPQR
(B) QSRP
(C) PSRQ
(Dr QPSR.

o

P: posh, air-conditioned

Q : gentleman of taste

R : are available for

S : fully furnished rooms

The Proper sequence should be
(A) PQRS

(B) PSRQ

(C) PSQR

(D) SRPQ.

8954 /RRR/ 16
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# ww e v fred wW T @
P: Wi, s

Q: ¥R ¥ W

R: ® forg avew ¢

S: uft ww A gulam et

e sgew o vy

(A) PQRS

(8) PSRQ

(©) PSQR

(D) SRPQ.

Amﬂmmmcomplmnwwkin3dnys.mymmgﬂh¢rbmaﬂcr2duys.sm,
work. If the work is completed after two more days, B alone could do the work in
(A) S days

(B) 6 days
(©) 9 days
(D) 10 days.

As&tnﬁaﬁmtﬁﬁsﬂﬁﬂwmmtlimmwﬁtﬂfazﬁ#!

W B W I A A mpmemt. Apmd s m e
§ w2 w8 !

(AY s fAT A
@) 6 T F
(€) 9 &1 o
(D) 10 f&=f )

74. Today is Monday. After 61 days, it will be
(A) Wednesday
(B) Ssturdsy
(C) Tuesday
(D) Thursday.

8954 /RRA/16 26
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76.

o w61 felf B am, ww g
(A) AHAT
(8) ¥R
(C) WTErER

(D) T&aEl

. Three numbers are in ratio 1 : 2 : 3 and HCF is 12, The numbers are

(A) 12, 24, 36
@) 11, 22, 33
©) 12, 24, 32
(D) §, 10, 15.
FREemd 1 223 R o A € stk wndiew. 12 ¥, vend #
) 12, 24, 36
®) 11, 22, 33
© 12, 24, 32
D) §, 10, 15.

January 1, 2004 was a Thursday, what day of the week lies on January 1, 20057
(A) Wednesday

(B) Thursday

(C) Fnday

(D) Saturday.

| T, 2004 FY EAR 91, | TEA, 2005 T FA® F wE-T 7 ogw?
(A) qvaEr

(By TTwAm

(C) ypram

(D) wnfyam)

8354/RRR /18 27 [P.T.0.
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77. The angle of elevation of a ladder leaning against '**dl is 60° and the fqq of 4
4.6 m away from the wall. The length of the ladder is b%
(A) 23 m
(B) 46 m
(€) 78 m
(D) 92 m.

T G # vt g g W) g i oo d o o w A g,
#igt W e e
(A) 23 m
B) 46 m
€ 78 m
D) 92 m.

y

78. Find the LCM and HCF of 2.5, 0.5 and 0.175
(A) 2.5
(B) §
(€) 7.5
(D) 17.5.
25. 05 3R 0175 W AT K AT 7w T
(A) 2.5
B) 5
) 7.5
(D) 17.5.

79. The last three-digits of the multiplication 12345 x 54321 will be
(A) B6S

(B) 745
(C) 845
(D) 945.

B854 /RRR /16 28
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2345 x 54321 ® M FH W A A siw g
(A) 865

B 745

(© R45
(D) 045.

The cube root of 000216 is

(A) &

(B) 06

) 71

D) 87.

000216 F1 TE ¢
(A) 6

B) 06

ey 77
(D) 87.

81 The angles of depression and elevation of the top of a wall 11 m high from top and bottom of

s tree are 60° and 30° respectively. What is the height of the tree?
(A) 22 m ’

B) 4 m

) 3 m

(D) 16 m.

T Uz ® I I A= R |1 T F ww dEr @ i & s wm sl IS s EE:

6r i 300 €1 g Ft s w0 2
&1 22 m
(B) 44 m
C)33m
D) 16 m.

8354/ RRR/ 18 29
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82. If 0.13+p% =13, then p equals = ?

(A) 0.01
(B) 0.1

(€) 10

(D) 100.

7R 0.13+p? =13 @ p WA ="

(A) 0.01
(B) 0.1
(€) 10
(D) 100.

83. The length of the bridge, which a train 130 meters long and travelling at 45 km/hr cap,
in 30 seconds, is

(A) 200 m

(B) 225 m

(C) 245 m

(D) 250 m.
wﬁﬁd.ﬁ@mﬁuﬁﬁaﬁusfﬂﬁm‘aﬁmﬁmwmﬁm HFzdm
FRFHG R, T R #

(A) 200 m

(B) 225 m

(C) 245 m

(D) 250 m,

Ciny

84. P and Q invested in a business. The profit carned was divided in the ratio 2 : 3. If P invested
Rs. 40,000, the amount invested by Q is :

(A) Rs. 40,000
(B) Rs. 50,000 ‘
(C) Rs. 60,000
(D) Rs. 70,000,

8954 /RRR /16 30
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palt Q 7 UF FH H T i sy o w2 ;3 # s F fawfaw few A
afk P 40000 T F1 Frdw fovw, 1 Q e e 31 &
{A’}dﬂ;’owm‘&

(B) 50,000 &4
(D) 70000 FTH|

gs. Three nrnes the first of three consecutive odd integers is 3 more than twice the third. The third
Integer 18

(A) 9 ,

(B) 11

(€ 13

D) 15,
mmﬁmwﬁﬁmﬂmmvmmﬂ%wmmhmmt
(A) 9

(B) 11

() 13

(o7 15.

Directions (Q. Nos. 86-90) : What will come at the place of question mark?
fldw o HEr 86-90) : wrEEE faw $ wm W owm s

8. 4,7, 12,19, 28, 7
(A} 49
(B) 36
(€ 30
@) 39,
4,7, 12,19, 28, 7
(A) 49
(B) 36
(C) 30
(D) 39,

8954 /Ry
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87. 80, 10, 70, 15, 60, 7
)20

®) 25

() 30

(DY 50,

80, 10, 70, 15, 60, ?

(A) 20

(B) 25

(€) 30

(D) 50.

88. FAG, GAF, HAL 1AH, 7
(AY JAK
(B) HAL
(C) HAK
(D) JAL
FAG. GAF, HAL 1AH, 7
(A) JAK
(B) HAL
(©) HAK
(D) JAL

89. 3,10, 101, 2
(A7 10101
- (B) 10201
(©) 10202
(D) 11012,
3, 10, 101, ?
(A) 10101
(B) 10201
(C) 10202
(D) 11012.

8954 /RRR /16
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0, QAR RAS: SAT, TAU, 7

9l.

(AY UAV
(B) UAT
() TAS
(D) TAT.
QAR, RAS, SAT, TAU, ?
(A) UAV
B) UAT
(C) TAS
(D) TAT.

NEP 2020 inMuccd 3*hagless concept to intern with local vocational experts such as carpenters,
gardeners, potters? Which class group will participate in this vocational activity?

(A) Grades 6-8

(B) Grades 5-8

(C) Grades 7-8

(D) Grades 8-9.

NEP 2020 A W™ =Eats faviwa 3 agd, oo, e ® ww = ® fow oA o
s W F1? 39 SEETas Afataty § $H-w 3 9qg 9w w@m?

(A) TE 6-8

By T= 5-8

(C) & 7-8

D) TE 8-9.

What is the full form of "ATM"?

(A) Automated Tallying Machine
(P) Automatic Teller Machine

(C) Automated Totalling Machine

(D) Automated Transaction of Money.

8354/RRR/ 16 33 [P.T.0.
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“tAum" = Ol ' o R
(A) ==Tfea faem AeiA
(B) w==fea Tem wyiA

(C) w=fera 2fem wyim
D) W = w=fem S

93. The final approval to the five year plans of India is given by
(A) NITI Aayog

(B) President of India

(C) National Development Council

(D) Ministry of Finance.

WA F YEEEE et w1 otm ot 9w #
(K) e smam gm

(B) Wd & T=Ud Z
(C) TS fawm wfimx zm
(D) & 93w g

94. The total number of ministers including the prime minister shall not exceed

(A) 20% members of the Lok Sabha
(B) 10% members of the Lok Sabha
(C) 25% members of the Lok Sabha
(D) 15% members of the Lok Sabha.

A Bfed w1 5w gen ¥ e T e
(A) SFE F 20% "=
(B) T F 10% HEE
(C) &rFae # 25% §a=
(D) WFEW F 15% HFE)
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which govemmgnl educationag] body will
ation (NCFSE) based on

Educ
(A) MHRD

(87 NCERT

() T

(D) SCERT.

g e A, 2020 B el ) smim w0 w-an - e g fr #
T WAl W ERE (NCFSE) dam wim)

(A) @.ﬂ.mﬂ.

(B) ﬂ,‘-l.‘(ﬁ.f.mﬁ

(€) FEIEA.
D) TEELIA

prepare National Curriculum Framework for School

05, the princi
€ principles of National Education Policy, 20207

96 . What is the full form of "DRDO"?
(A) Defence Region and Development Organisation
(B) Defence Research and Development Organisation
(C) Defence Recruitment and Development Organisation

(B Defence Research and Developed Organisation.
‘“HamAa" &1 o w2

(A) T & S fawm wred

B) W SEIA vE fawE W

(€ v TETe v fawra wTeA

D) T FEE s fafaE we

. Who i the president of the National Development Council?
(A) Vice-President
B) RBI Governor
©) Home Minister
D) Prime Minister.
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mem frwm oy ® sy ¥R 17
(A) Funay

(B) smasm

(C) TE o

(D) WA W)

98. NITT Aayog or the National Institution for Transforming India replaced which of the following
commisaan?
(A) Public Service Commission
(8) Ciwil Service Commission
(C) The Election Commission
(D) The Planning Commission.
sy S m v Yeigre i gt hon 3 frofefm § @ e s W T fen
(A) € TN SR
B) fafam W swm
(C) T mam
() T s

99. The National Commission for Schedule Caste was established under ............ of Indiss
Conatitution.

(A) Aricle 338
(B) Amicle 250
(C) Aricle 180
(D) Anrticle 142
AT HiavE w
w1 M o

JA) wEiT 338
(B) = 250
(C) =% 150

(D) ST 142,

ﬂmmmﬂmmmﬁm
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N which of the following is the Conwtitutions) besdy
, X Natienal Child Rights Protecyjon Commixsion
” National Backward Clasgey Commission |

€ National Minorities Commission

) National Commission for Scheduled Cantes,
gt R WW whafes frem 49

(B) v freq o amm

(€) T SHETRTE v

) SR W ¥ fo v s,

101, The Supreme Court of India at present comainy the follawing number of Judges
(A) 15 judges

(B) 31 judges

(€) 20 judges

(D) 30 judges.

w7 ¥ watsw = § wiom | sgrndivil w wen trefsfam @
(A) 2§ =TEmdTe

(@1 31 =<Emdm

(C) 20 =rmdtn

() 30 =rEmdt)

W2 What is the official term of the President’s Office?
(Al § years
(B) 10 years
€ 3 years
i) 4 years,

m IRRAR /15 97 [PT.O.



Il & waem W sfenfs sHwm s R
(&) 5 Tm
(B) 10 w&
€ 3 "5@
D) & W&

103, Mr. T'S. Thakur is the ...
(A) 4191
(B) 42n4
(C) 43rd
(D) 44th,

vreeneesnnes CIER Justice of India.

AR T o TR GO TG
(A) 419

By 4
0y 439
(D} 44%)

104. Who appoints the Chairman and members of the State Public Service Commission?
(A) Chaef Justice of the High Court

(B) The Governor of the State

(C) President

(D} Chief Minister of the State.
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what the meaning of the word "Veto
# o Soppor
) pouble
) Forbid
p) Decid:
W T ®OE 5 7
(A) T
(B) T
[© ¥ w

o) fefg &

96 What is the full form of "PSLV"?
(A) Polarised Source Laser Viewing
(B) Polar Survey Landing Vehicle
(€7 Polar Satellite Launch Vehicle
(D) Precise Source Locating Vision,
LV W O w owm #?
(A) yirpn s S e
®) i wdem den e
(€) WA TTE TR T
D) W W wREE P

I, Who can remove the President and members: of the State Public Service Commission from

the post?

(A} Governor

®) Chief Minister

€) President

D) Parliament.
¥4 pg
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mmmaﬁmﬂmmm:ﬂwﬂdﬂmmt?
(A) TETIE

(BY TR
(C) T=afn
(D) wel

108, Article 330 w0 342 of Indian Constitution belong (o ..o
(A} All India Services

(B) Election Commission
{C) Village Panchavats

(D) Reservation and Representation of Scheduled Castes, Scheduled Tribes in Lok Sabha.

WM wEYE % SR 330 W 342 FHAE ¥ e
(A sfem wwdts dms |

(B) T M R

(C) ™ Juwn ®

AD) wrwaw F wqgfa afy, safen st ® smew st sfffe @

109. The main aim of the Eleventh Five Year Plan was
(A) Eradication of regional imbalances
(B) Food, Work and Productivity
(C} Inclusive Growth in all sectors
(D) Eradication of Poverty,
TORES] YHAdY WO W qen Iym o
(A) ®i FHGE 1 A
(B) W, wvd 3R Fwm

(C) wYt a5t o T fawm
(Dy T w1 T=EA
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multidimensional repor carg will
Jegree ° , reflect | ; ‘
o W pess Of cach student. It will cover o FLin great detail the progress as well as the
4 -i = v ¥

- domains of leaming? Find out the odd option
el gy

Al Affective

) Cogniie

0 posiive

o F‘Tchﬁlﬁﬂl“r dﬂ'ﬂllinS,
D) P

o foft wewmrd Foi W e o w) % s ffrem W owg frem
4 qfgm) 8 e ® T A W st wim) A feg o fre freen w o oEm

{1L A tzacher should be

(A) Honest

(B) Diligent

(C) Beautiful

(D) Puncrual.

% fes e ey
(A) f8FER

(B St

C)
D) st

PTO.
Ef:“ﬁﬂﬂha ‘" rs



112. If some of your pupils misbehave with you in the college campus, you must
(A) Report to the principal
(B) Report to their parents
(C) Improve their behaviour by your own character and scholarship
(D) Mobilize other teachers against these guys.
M R ww e Wi tfon o o W geimem w f, @ s
(A) fifees =) frad weht wfeg
(B) & um-fom w feoid sl wfin
(@) st wits s fpem @ o7% wmER § uw won Wi
(D) ¥ A % faens s foast w1 wnfam w0 wfew)

113. At primary level, it is better to teach in mother language because
(A) It develops self-confidence in children
(B) It makes lcaming easy

(C) It is helpful in intellectual development

(D) It helps children in learning in natural atmosphere.
WOl WO AReW A wE dew § s
(A) 7® ¥= 4 Frwfaears fawfon v #

(B) W® Fraen s wwm

(€) wx dfirw frem F W ¢
(b) 7® ¥= W WElE A § Wed F wr s 2

114. When the student become failed it can be understood that
(A) The system has failed
(B) The teacher’s failure
{C) The textbooks failure
(D) The individual student's failure,
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117, Students centric classroom s mean for
(A} Addressing individual differences
(B) Reducing teacher oriented lectures
{C) Recalling the previous knowledge
(D) Engaging the entire class.
Y OWRE W oW s
(A) =ferm sl w wefin w
i) s T = W own owon
€y food 39w TR W

(D) T =9 W whm v

118, A sysiematic science which provides nules, laws and principles for achieving adjustment with seif
and the environment is called

(A} Motvation

(B) Mental hygicne

(C) Leaming

(D) Conflict

3954 /RRR /16 44
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e o T T v @ fog e W sfer wew W e
(A) WM T

(B) Wt whem

(C) Womas Tym

(D) sTrfes <y

122, The best remedy of student’s problems related with learning s
(A) Suggestion for hard work
(B) Supervised study in library
(C) Suggestion for private tuition
(D) Diagnostic teaching.
fogemdt %1 sfim ® wfm el w w T #
(A) ®E T ® fag gEm
(BY Ts ® vifen sams
() Fh 7o ¥ oy e
(D) Aofes fgm

123. If a girl student requests you to collect her post at your address what would you like o do @
this case?

(A} You woald not give permission as it is against vour own principles
(B) You will never allow ber suspecting a foul game
(C) As a teacher you will allow her

(D) You will permit her because you may get in touch with her

nﬁﬂtmmﬁaﬂqﬂmm%ﬁmmmtﬂmmm&ﬂ
w17

(A) 39 sefn 1 W w5 sow s e ® faers @
(B) 3T TW W o Wurh # Wy w7 W swi o o0

(C) oF forww & ¥ 9 3W T sy o0

(D) 9 T S 6w A T A o
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p E,;h‘iﬂiu defined as
4 n pacilitation of learning
) fmnm‘imnn of knawh':dga
) Reading the text boaks ' by ihe msdents
o Transmission of knowledge by teachers
g ® TH TER sfewfm fem #
o ¥ g
mmwmmmmmm“ﬁm“
O w0 T
) ] T I W

{30 There is tension among village and vou are feacher there What will you do?
(o) You will inform “Gram Pradhan”
(B) You will try to pacify them
{03 You will report 1o police
M You will keep distance from them,
mAd Tt oA oA s ¥ osw s w6
() 5“7 wwE" ) gfm w6
# =™ T nin wrd =) wifen w40
0) sm qferm %1 fead =
D) =9 T8 <h T

* The cuential element of the syllabus for the children remalned out of school should be

W Literacy compelencies
) Life skills

i ;
' Numerical comperencies

v .
! Yocational competencies.

{P.T.O.
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4 2 P
ﬂ,mm:ﬂﬁmn
I

(Al
) Concise putcomes

© Academic achievement

2 it . i + 1 § , -
il6. In which level of teaching the leamer gets an opportunity 1o discriminate ot length Betwess

positive and negative exemplars of concepts?
{A) Memory level

(B) Understanding level

(C) Reflective level

D) Autonomous development level.
‘ - o % O w0
3 o A ﬁﬁmﬁﬁgmﬁtmm

Ao s de wa w e e ¥

W) =

m]mm

{C}ﬁmﬁﬁm

A am ferw w0
o (ARY

1_1%;1“5!}15 4



s¢ of basic edvcation weheme |,

U ..-:rﬁi"ﬂ’"'““ of primary education

l
o wocationalise the education
.u - fulfill basic need of persons to edycatioy

mﬂl“ cducation mmpu]mry for all.

GO T R

{35 A pew comer teacher who is maltreated in his class, will deal with the stodents by
(o) Applying punilive measure
@) Improving his qualities and expressing it before them in & good way
{C) Changing his class after consultation
[0) Giving them threat of expulsion.
ﬁwm.mﬁmmmﬁmﬁgﬁimfmmtnmlﬁmmm
(4) YOS IY@ O] HOW
B ¥R Tl F g w s 7% T T w T R =
O T % A A wW e
D) 7% freme ) wwEl M)

% Wiy .
Which is the source of primary data’
‘A) Books

B) Newspapers

) Respondents
D) Reports.

ﬁmﬁmm i PTO.



ot e W T whfefed o uw i v @ v d ot fem fawe
v foardt & f@ W F ww o

(A} wffiied
(B) WTE
i) fem
by T

129. You like teaching profession because
(A) 1t has Jess responsibility
(B} You are wterested n it
(Ch It 15 cavy
(D) Tt provide vou more holidays.
sl fgm o wEe ¢ TR
(A) Te fased %
@By s g wf T E
(€) 7% s ¢
(D) TE ITE sfvE ghe v s R

130. An example of scientific knowledge is
(A) Authority of the prophet or great man
(B) Social traditions and customs
(C) Religious Scriptures
(D) Laboratories and ficld experiments.
tafs T ® T R
() e wEw wE SR
(8) wrfas wway sy ffa-fera
(Cy fef g
(D1 Wty s d wA

84 /R 40 PT.0.
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w2 ow oW v
Ay femmd

) W Ty

) Torom

( fedds

127. Many experionced teachers o into & classroom and embark Straight away opon a lesson. Ay

beginner 10 the teaching profession will you
(A} Adopt the same procedure

(B) Miake a retumn note of your preparation with innovative idess
iC) As the students a like

(D) Oaly will use Jecture method.

ﬂmmwizﬂfahtnﬂmmwmfuhmﬁww
L I |

A) = W viEm s

wﬂahﬁﬂmaﬂiﬂi&imﬂﬁmmﬁ
O W T F AT S S w3 9
D) =98 |wEE TN 1 7o wi

125 Who ddh:; t=aching as an organized system of specific acuvities aimed 1 belp the learser len
! :

(A} Moeria
(B) Byod
(C) Semith
(D) Jackson.
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» ollowing objectives of an clementary music Programme the one of lowest priarity s
l}lﬂ xpose children to a variety of musical COMPOtition.
¢

W
‘ ¢
| o develop @ EOUP of performers for holiday assermblies
- To
k!

hildren for wise use of leisure time

o To provide children with emotion outlets.
;‘“‘mﬂm*mm“wmmi
(vt W faftF T F T A R S T
.B]Iﬁ?ﬁm‘*mﬁq{hmmﬂimmm

o e 7 % foy FEER F 0E Wy fwfi

o) v ) T # st W R

|¥ Efectiveness of teaching hus to be judged in terms of
Al Course coverage
Bl Student's interest
O Leaming outcomes of students
D Use of teaching aids in the classroom.
™ 3 v e few aww W fem ¢
LR EC R
LI 3
U e % oo
D’m*h«wm ww % T

[P.TO.
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. sroponent of the Cognitive Theary of teaching is
4 NL. Gage
5) Shiv Kumar Mitra

|

() BE. Skinner

) McDonald.

o ® e fum w oy
) AT T

® fr Tm fim

. The scope of decision-making is
A) Management
'B) Organization
©) Administration

R



YM. Which one of the most fundamental of the guidance activities should be execyyey By
(A} Determination of objectives
(B} Selecthon of leaming activitics
€} Determipation of leaming process
(D) Selection of curriculum,
mm*#mmmﬁﬂmﬂwmeW!ﬁtm
(A) Twst Wy e
(B) viaR w ffefudt =
© W W W i
(D) SRTES 1w

132 Notse is known as
(A} Tramsmitting barmer
(B) Receiving burrier
(T3 Sender bamer
() Taken barrer.
T™ ® w5 & ar oam ¢
LA) TR W
(Bf W TS s
(C) www
(D) & g W

133, How will you demonstrate your impartial behavipur?
(A) By maintaining high self esteem and egoistic behaviour
(B} By making on behaviowr more balunced and fair
(C} By assaulung a teacher
(D) By criticizing the teacher community.
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13 sudent becomes unconscious in the class what will you do firse?
(A) Rushing to the principal’s office and canvassing for help impatiently
B Telephoning student’s parents and waiting for them

() Giving fir aid 1o him/her and trying to contsct any nearby doctor
(D) Making arrangement 0 send him 1o his home.

& o ws w0 A AW A N A wd
tmmﬂﬂ'ﬁﬁm:ﬁmmﬁamtmimﬁm
@) o% ® FE-fom w W w s 778 wie wo
;cmmmmtmmmmmammmmm
D) T TEH W YA W TEA w0

145, As a teacher, select the best option to ensure your effective presence in the classroom.
(A) Use of peer command
(B) Making aggressive statements
(C) Adoption of well-established posture

(D) Being authoritarian.

mmﬂmﬁmﬁmmmmm*mmm

(B) smEms wom ¥t
©) T wo ® HEN W
B e wwu
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136. Prohibitions Act (1986)
(A) Prohibits all type of child labour up to 14 years of age of child
(B) Prohibits child labour in risk taking works only?
(C) Prohibits child labour during school hours only
(D) Prohibits child labour by imposing the responsibility of children's education on the cmpla;m
frdu wmfufrm (1946)

(A) 14 ™ W) wg v ® uh ywR @ e am R o won 4
(8) wwe Wfen &3 aw w5l F wm o oW sl e

©) %9 =E % w2 % om oam W dwm 4

(D) Freiemt = ¥ B fr *) P viver wm ww W dew b

137. Wheo developed the interaction analyxis category system in education for increasing the icache
effectivensss?

(A} Flander

(B} Rayon

(C) Amidon and Simon

(D) Richurd Over.

fows vomie wWE ¥ fag fmn o Hafem faveam soft woweh w1 e R A
(A) ¥HE

(B) 199

7 ot sl

(D) fred s

138. NUEPA is mainly concemed with
(A) Educational Supervision
(B} Educational Unity
(C) Educational Planning
(D) Educatonal Evaluation.

BS54 /RRA /16 a2
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(a1, Siblings, parents and teachers are important source of ... for e "h”dm.h
(A} Motivation

(B) Information

() Opinions |

(D) Attitudes. |

of.awy, wo-fem ot fowe we ® FO

i) s

(B) =
) ™

() ghesi

Y -

142 The ficld of education is permeated by conflicts and misconception becayse -
(A) Problem in education call for subjectivity of interpretation
(B} Problems and encountered in teaching are not a amenable 1o MZOrous seientific
(C) There are not good teaching methods and procedures
(D) Teachers are not worthy of doing rigorous scientific
e % & e s owhd s ¢ s
{A) ﬁmﬁmmaﬁm'ﬁfmmt
(B T 3 A Wl wwe s W S0 wEh dnfr we @ e e 6
(€) s fwgen fafvi st whwmy it
L) e F2R &0t W W % A A

mvesige,

investigation.

143, Verbul guidance is Jeast effective in 1eaching
(A} Attitude
(B) Concept and fucts
(C) Relationship
(D) Skills.

6954 /RRRA /16 54
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146. Which one of the following is a key behaviour in effective teaching?
(A) Using student ideas and contribution
(B) Structuring
(C) Instructional variety
(D) Questioning
st frem ¥ frefefan R wR-W 0 WA SRR #2
(A) wrs forard sie @R w) IwEm W
(B) ®TEN
(C) P fee
(D) W wE

147. Informal education is
(A) Just schooling
(B) Time bound
(C) Lifelong
(D) Preplanned.
sftafes fon #
(A) faw =t fon
(B) HYqERM
(C) Fmaiam
(D) [ Fraifom
148, Smallest unit of meaning in a language is
(A) Syntax
(B) Morpheme
(C) Pragmatics
(D) Phoneme.
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149, Easy type test are nol reliable because
(A) their answer are different
(B) their results are different
(C) their checking is affected by examiner's mood
(D) their responding styles are different.
WA TER ® Tiym fredn T e wie
(A) 3@ I o W ¥
@) 7% wfomm fir=r o ¥
(© T W vhew [T A Twim v £
(D) @1 giefwa deit sEm v B

150. The purpose of new education policy is
(A) To provide equal opportunity of education to all
(B) To improve the whole education system
(C) To link the education with employment
(D) To link the degree with education.
7 fimn Aifr = Twm
(A) Tt % forn & AAA FAW WEH HE@
(By Hh feren wowe A U WA @ g
(€) e ® T | g # feg
) frer 3wy ferft #) WA # fow
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